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Yv~y€wsvq [vm|xtnoz8 lornop ou }rmtqgrt
Vesylmr} |vnstvnmr}e8fmrt Ztrnop ou W\ Yvpvxm Jv~'e8
roppt}eoqlmagq, [t|xtp ou nst cvnmoqv€ Wrvlt|y
ou ‘rmtqgrt} ou nst Zteex€mr ou Jv~vws}nvq

Yv~y€wsvq [vm|xtnoz v} xo| oq {trt|xtp =8 *+T+
mqg nst zm€€v,t ou *sonv8 {~svq,t€ly Iminpmrn ou Jo}nvgvm pt,ma
_m} rsm€lsool ut€€ oq }ztpt eptevp ytvp}> _t €o}n sm} uvnstp
estq st ev} 0g€y nsptt ytvp} o€18 vql tvp€y }euutptl svpl}sme}>
[tuopt ,omqQ, no }rsoo€ st ev} xpoe,sn e» Xy sm} |onstp8 kvwm}s8
*s0 v€evy} nve,sn stp rsmE€lptg qon no zmo€vnt Im}yrme€mqt8 qon |
NnVwt onstp sto*€tZ} nsmq,} *mnsoen «tp|m}}mog8 no ptletrn tztpyU
xoly8 t}strmv€Ey 0€l otoe€t> Yv~y€wsvq [vm|xtnoz }Inm€€ uo€€oe}
nstlt |onstpZ} vijogmj}st}>

\qlttl8 st m} v Itjvglmq, ntvrstp8 v ptEmvx€t upmtql8 vq
*q}t€um}s vqgl upmtgl€y }eetpzm}op> _t m} qon ptztqg,tu-€ vgl tgzmuU
0°}8 xen st rvq ltutgl sm|}t€u vgl npens> \n }so*€l xt t}strmvE€Ey
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*vy} ptvly no st€e tztpy }neltgn> _m} Im}rme€t} }tt mg sm| “e}n v
wmgl |vq vgl sm,s€y ™evEmumtl }estrmv€m}n vqgl €trneptp *so rvg
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[>ke}v,vEmtz> _m} }rsoo€ ntvrstp} ,vzt sm| }oeqgl wqgoe€itlt
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Yepnstp Y>[vm|xtnoz |vlt sm} evy mqg }rmtqrt Xy nst
[tnsol ou npmvE€} vgl [minvwt}> \q *+“t st }nvpntl <o}n ,pvievnt
nstoptnmrv€ ssy}mr}’ roep}t vn axm€m}m “nvnt egmztp}mny> astp!
svl no eopw v €on8 v} mn m} }JvmiI8 mq nst }stvn ou sm} xpoe8 v}
ro*€l qon nvwt vrnmzt evpn mq }t|mqvp} st€l mq itop,mvg> \q }emn
ou nsm}8 Ist no sm} svpl copw vql *tp|vgtgn vnntgnmog ou sm} }el
*tpzm}op8 roppt}eoqlmg, |t|xtp ou itop,mvgq Wrvitly ou ‘rmU
tqrt}8 c>X> a}mqn}vi~t8 st ro|*€tntl sm} rvgimlvnt nst}m} ‘ao nst
nstopy ou npvqlutp mq €oe nepxe€tqn «€v}|v’ oqg nm|t vql ltutqltl
mn mq nst }strmvEm~tl egmztp}mny roeqrm€> \q *+“+ xy nst pt}o€er
ou nst _m,st}n htpnmumrvnmoq ho||m}}moq st v} vevpltl nst
Ime€o|v ou nst hvglmlvnt ou “rmtqrt} aop nstoptnmrv€ vql |vnstU
[vamrv€ esy}mr}> Wuntp umgm}smgq, *o}n ,pvievnt roep}t} st tgn
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nstpt v} v }tgmop ntvrstp vgl €trneptp vn nst hsvmp ou jsy}mr}>

\q “tent|xtp ou *+%ot Y>[vm|xtnoz ev} t€trntl no nst
*0}n ou nst €trneptp ou nst hsvmp ou ktnsolo€o,y ou atvrsmaq,
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eqmztp}mny> Sopwmg, vn nst rsvmp esmrs Iml qon svzt vgy }etrmvE€
~vnmoq8 st vqqev€Ey svl <LL +LL soep} ou €trnepv€ vql spvrnmrv
*0pw8 xen rognpmxentl sm} }rmtgnmumr copw mg nst umt€l ou wi
nstopy ou pvptumtl nepxe€tgn «€v}|v8 ltq}t ,v}t} vgl gog mitv€
€v}|v>

_t mgzo€ztl mgno }rmtgnmumr pt}tvprs oq <€v}|v esy}mr}
nst ineltgn} npvmgqtl vn onstp rsvmp}> asvqgw} no Imt ltvg ou nst
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Wrroplmg, no nst pt}o€snmoqg ou nst kmgm}npy ou _m,stf
blervnmog vqgl nst Wrvltly ou ‘rmtgrt} ou nst e””"Z oq mgnpoU
lernmog ou gte }etrmvEmnmt} mgno nst €m}n ou }strmv€mnmt} ou n
nmogq} vgl «gmztp}mnmt}8 vgl svzmg, *poztl8 nsvn Y>[vm|xtnoz sv}
}tpmoe}€y roglernmgq, }rmtgnmumr pt}tvprs vgl ev} og nst eomgn ou
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}moq copwmg, *po,pVv||t} ou }etrmv€ roep}t} otpt t€vxopvntl v}
ot€€ v} qte }etrmvE€ roep}t}8 }etrmvE€ epvrnmre|} ptu€trnmg, nst
€tzt€ vqgl nptgl} mg nst ltzt€oe|tgn ou j€V}|v jsylmr}> _t ImU
ptrn€y evpnmrmevntl mq nst uosglvnmoq ou uoep gte €vxopvnopmt}
npvmagmg, *sp+0}t}8 xtmgq, t™emestl xy sm| [vmqg€y vn nst tE-tq}t
ou nst |tvq} ,vmqtl upo| nst }rmtgnmumr pt}tvprs ecopw} rvppmtl
0°n oq Vv ro||tprmv€ xv}m} «qltp sm} €tvitp}sme>

ast <L} vpt nst |o}n upsmnue€ tpmol mqg nst }rmtgnmumi
vrnmzmny ou Y>[vm|xtnoz[> \n v} nst ztpy tpmol estq }m,gmumrvqr
pt}*€n} ogq nst wmgtnmr nstopy ou ltq}t ,v}t} emns qoq viimnmzt
eontgnmv€ ou mqntp evpnmr€t mgntpvrnmogq} etpt ,vmqtl8 nst }nvi
nstopy ou v xv€vgrtl }nvnt mq sylpolyqv|mr} ev} ltzt€ostl>
ast}t pt}s€n} vgl nst pt}s€n} oq nst ptEvEvnmoq estqo|tqv vql
npvqlutp eport}}t} mqg nepxe€tgn *€v}|v v€€o-tl sm| no umgm}s sm}
lornopvE€ nst}m} ‘apvq}utp eport}}t} vgl pt€EvEvnmoq estqojtgv mq
Itg}t \v}t} vgl <€v}|v>" ast [vmqg comqgn} ou nsm} nst}m} svl xttq
Im}}re}}tl Xy nst €tvimg, }etrmv€m}in} ou nst e "Z vql svl xttq
pteopntl vn nst W€€ egmoq hoqutptgrt} vgl }rmtgnmumr }tjmqvp} ou
€vp,t }rmtgnmumr rtgnpt}> _vzmg, *poztl nsvn nst spox£€t| xt inelU
mtl v} vrnev€ vgl [vmq pt}e€n} etpt veepoztl xy }ers oenU
Invglmg, }etrmvEm}n} v} f>t> Avwsvpoz8 f>b> Yopnoz8 >q>"e> |€r
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l[ognozmrs8 f>j> ' m€mq8 ">"> kom}tytz8 W>W> ZesvI~t8 f>g> {-U
xpoz}wy8 tnr>\g *+< Y>[vm|xtnoz ltutgltl sm} lornopv€ nst}m} mq
nst “strmv€m~tl hoegrm€ ou axm€m}m “nvnt eqgmztp}mny> [y nst It
tmog ou _m,stp htpnmumrvnmoqg ounst e "Z st «v} ,pvgntl v It,ptt
ou v lornop mqg esy}mr} vgl |vnstlvnmr} mqg nst }etrmv€mny
‘astoptnmrve€ jsy}mr}’

\g sm} lornopv€ nst}m}8 Y>[vm|xtnoz v} nst ump}n no }e,U
,t}n nst mltv ou nst qtrt}}mny ou nvwmg, mgno vrroegn sm,stp opltp}
ou roppt€vnmoqg} gon og€y mq nst uegrnmogq} ou svpnmr€t Im}inpmx
nst }yint|8 xen mg mqgntp svpnmr€t magntpvrnmoq} eontgnmv€ v}
Yepnstp nsm} mitv v€€o-tl sm|8 no,tnstp *mns oqt ou sm} nvE€tgntl
Im}rme€t}8 qoe v lornop ou esytmr} vqgl |vnstlvnmr}8 epout}}op
a>">Zv|v}vqoz 8 no eopw o<n ¢}telo contgnmvE€ |olt€} ou ltq}t
*€v}|v evpnmr€t mgntpvrnmoqg} nvwmg, mgno vrroegn xons ™evq
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ast pt}*€n ou ntgytvp eopw mqg nsm} umt€l ev} nst eopw
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*€v}v esy}mr} vpt xtmq, rognmgqetl Xy sm} Im}rme€t}> _m} ump}n
*0}n ,pvievnt Ineltqn8 qoe }tgmop €trneptp8 >e>f>Wpwsmeoz m} oq
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tE€trnpolygv|mr epoetpnmt} ou <€v}v> Y>[vm|xtnoz v} gon og€y
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